( 363400)

1 G632 TA : 1008 -0333(2023) 07 -0134 - 03

12022 - 12 -05
(1983.2 -)
— 134 —



o O w =

a-b-d

( HCl)

.a. Kb

Co;~

( HCI)

( K,CO05)

(o)

( HCI)

1

.a:Cl™ b:K* ¢:CO:™ d:HCO;
.a:K* b:CO;” ¢:Cl™ d: HCO;
.a:K* b:CO;” ¢ HCO; d:Cl°
HCO; ¢ Cl™ d: CO%™

0 c¢d
c
HCO;
K*  CO0;~
K*
K* a CO;~

CO;” + H* ==HCO0;

(o) HCO, Cl° b CO:”

0 HCO;
HCO; +H*=—=C0, + H,0 HCO;
0 HCO; ¢ Cl°
HCO; H' Co,

Cl™.K~* Cl- =K"

C
2 2 25mL 0. Imol/L.  NaOH
0.2mol/L  CH,COOH
( ).
2
A2 AB
¢(Na®) >¢( CH,C007) >¢(OH™) >c(HY)
B. B a > 12.5 c(Na*) =
¢( CH,CO00™) =¢(OH") =¢(H")
C.C ¢( CH,C00") >¢(Na™) >
¢(H*) >c(OH™);
D.D ¢( CH,CO0™) +¢( CH,COOH) =
2¢(Na®)
A
A B
(OH™) >c(H")
¢( CH,C00™) >¢( Na*) A
NaOH
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CH,COOH
¢(OH") =¢(H")
¢( CH;C00 ™) .C

¢c(H") >¢(OH™)
¢(CH,CO00") >¢(Na™). D

2
3 HNO,
HNO, NH,
(1)
(2) HNO,
HNO, HNO, .
HNO,. : HNO,

( H,) \N,.NO.NO,
Mg( NO,) ,~NH,NO,
:H,: ¢ <6.6mol/L; N, NH,:c <10mol/L;
NO: 0. Imol/L < ¢ < 10mol/L; NO,: ¢ > 0. 1mol/L.
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c(Na™) =

HNO,
3 . 11mol/L  HNO,
; 960mg
4mol /L. HNO,
224ml.

HNO, 11mol/L

NO, : Mg + 4HNO, ==Mg( NO,) ,
+2NO, T +2H,0; HNO, 4mol /1
H,.N,.NO.
NO,
n( NO) :n( N,) :n( NO,) :n( H,) =5:3:1:1
NH,

13Mg + 34HNO, ==2NO + H, T +2NO, T +
2NH,NO, + 13Mg( NO;) , + 12H,0.

2019( 12) : 30.



